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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP6AE_E

Warning: col ['minFVlraw , 'minFVOraw' ] is missing

minFVI
minFVO

[ ] ETcAlraw
—  ETcATl
—@— ETcA

o
Warning: col [ ETcA2raw’, 'ETcA2'] is missing

0.2 0.4

0.6 0.8 1.

Warning: col [ ETcA2raw’, 'ETcA2avg’', 'ETcA2'] missing

0.0

4000

3500

3000

2500

2000

1500 ~

1000 A

-

(11
"

e a0

7 8./

){J’

\L|

il
(]}
(]

ECopt
ECC
ECI
ECO

tte¢

— |
““’--__,

6.5 1

tttt

PHopt
PHC
PHI
PHO

31.

31.

30.

30.

29.

29.

28.5 -

Warning: col [ WCperMraw', 'WCperMavg'] is missing

—@— WCperM

.45

. 40 -

.35 A

. 25 A

.50 7-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-90-0-0-0-0-0-0-0-0-0-90-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-

——
——
——

minDe | taM
avgDeltaM
stdDeltaM

.30-}~.-.-.—.h.hlF4l-.—.hCF4l~.-.—.h.hlF4l-.—.-CF4l~.-.—.h.hlF4l-.—.-CF4l~.-.—.h.hlF4D-.—.-CF4I~.-.-.—.h.hlF4b-.—‘-CF4I~.-.—.h.hli*.-.—ﬁhdbilﬂ.-.—lhﬂhi

.20 7-0—0-0-0-000-0-0-0-00-0-00000000000000000000000000000000000000000000000000000

30 -

28 -

26

24

22 A

20 0000000000000 0000000000000 00090( .

begM
maxM

3
>
=

: ad JFVOR
0.04 A :
1
1
1
0.02 ]
1
1
1
0.00 i
1
1
1
~0.02 - :
1
|
1
~0.047 Warning: col ["adjFVIRraw, "adjFVIR", "adjFVORraw' ] is missing !
1
1
1 1 1 1 1 1
2.00- 0000000¢0¢¢ ® FRA
o 00000 o FRC
1.75 1 ®  FRraw
e®000 ° — R

.50 )0 o0 0@

1.25 4

1.00 A

.75 1

.50 A

. 25 A

. 00 A

+

3.0

2.5 A

2.0+

1.5

1.0+

0.5 -

60

58 A

56

54 -

52

50 -

48

—@— beg_wc

10 20 30

40 50 60

e
+
—o—

300 -

250 -

200 -

150

100

50 A

postFgEtraw
postFgEtavg
postFgEt




FgDaily




y
/
\

.

\/
*/.,u/‘
/
A
/4#
SVARS
[

- T s I s = e
> S ' > .m ’ >
e \V- UV. e » e
C f 1 14 N\
UV..A MNVV. - 4V. e — e
AJ, ~ ~e J | 3 M
v o \\HV \o\\Vg P " oA//,o/ -
aq s N el £
— I —— I P— -\\\\.”Vo 1 UV’II
< ﬁ .A\\.\ .f J N I 1 —
S~ —— —~—— _—
e o ——e ——e — o e
~d ' —_ —_ Vs <
Vo Rv \\M\ P k/ »
T
s Aﬁ A
«
RS RN M
>e e M
ﬁ/ fv. B || —— -

\
\
W/
\
\/
N\

/A //\ A
f
A\
[ /Y|
N
[y
A

o o o o o o o o o o o o o o o < N o e} © < N o o o o o o o o o o o o o o o 1o} o Lo o o o Lo o o o o o o
Lo o el o Lo o Lo o o o o o o o o N N N — — — — o o o o o o Lo o Lo o [Te} o Lo (=} © © ~ ~ © © o o o o (=] o

~ o N o ~ o N © < N o [ee} © < N o < ™ N — < ™ (32} N N — — o e} © < N

— — — — — — — — —




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

1.0
0.8
0.6
0.4
-0.2

-0.0

ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD VN | PPFD T RH



ETcl

ETol

VN

1750 1 ] o® ] o ® ] S ] ° ] o®
1500 - - g - 0% ¢ - * % - * - ‘Y
%o o 9 ®* % ® ® s o9
1250 - . ¢ e © ¢ ° ® 4 ® o ¢ . T ® L ®
° ° ° ° °
1000 - a (] Py a (] ® a ° (] a S o a (] °
LA oo’ ° ° ° ¢ » °.s o ° :3
i ° S o & _ oo ¢ i o 8, _ o
[ J e ° e © OO LN [ J [ J P ( I [ J o 0y
° ° L) ° % °®
’ ° o»® “. i e %o o". lo®e ‘: ° e : e o® i ° ° s:“
o o ° ® ®
1. ° .ca. | ... :c i J.‘g i ..)oo | . ° .J.
®e %o 0 ® % ® ¢ ° ° o 0% ¥ |og® o o® °e® o
T T T T T T T T T T T T T T T T T T T T
° ° ° ° ' ® ° o0
1200 - e .t. o - . . &, . :.O.o o . o o § . .(.o\.
° @ o () ° .0 a ¢ ° a °® ° a® @
e 2 %0 °_ J° o 0’0 S o e 58 % e o o0 ® o@P® $
1000 [ ° % . . e ¢ 4° 1° X3 ° 1° o @ o ¢ . N o
® L J e O o ) ® o9
° ° o0 ° ° ° ®
800 - ° ® 7 7 H 7 o ° 7 ® ® 7 o °
® o Y @ Y ® @9 @9
600 - ® ° ] ] ° ] ® ° ] e © ] ® °
o ° o ° °® ¢ ° °®
400 { @ (] . 4 @ (] . op . o . ( )
° ° ° ° °
Y ® ° ° ® ° °
2001 o - - ° - o e - )
T T T T T T T T T T T T T T T T T
° ° ° ° °
24 . . . . .
22 - ¢ . . y
e o o o X
20 4 ® ° ) .. e . : ...'..
° .: o o . o.:' o*:‘
i o i i 9,
18 ®o 0 o ° ® & o
() ¢ o o ° ([
16 1 .o..o « © ° . 1e P e ® o “,
144 ¢ . {1 ®
121% . . ®e
(4 o ©
90 . .
.. ° ¢ [ J Y
80 ™ °
Te ° ° . . ) °
% o o . % %
z o ® 9 Yo . ® o o
a ) o)
70 e °© ¢ o ® . i 0o .a.. *
o0 ™ e o_o
@, S . o 9 K
08 @ o e ©
60 o °*% ] | «°®
° ° ®
° °
° °
1500 - o ° - . o
o0 ™)
1250 + o o E ] )
° °
1000 e o - i R o®
o %, e o
750 [ (O] E - o 00
® %o J ° c
500 - ® ¢ § | o oo
° . . o ° .
2504 o @2 ® - - ® oo°
@o.o. o o . ° A
N °o L, © 1 1 s O,
T T T T T T T
400 o ou® o . ]
e o
35071 § o8 006 o o8 0 ]
L o “ o
300 % ° E i
o® 0o °
2504 o : :
4
2001 @ o o 1 1
150 . . . . .
° ° ° ® °
100 - . . . . .
° ° ° ° °
504 @ 1l e i ® i ° 1l e i
T T T T T T T T T T T T T T T T T T T
0 500 1000 1500 250 500 750 1000 1250 15 20 25 60 70 80 90 0 500 1000 1500 100 200 300 400

ETcl ETol T RH VN I



3000 -

2500 -

2000 -

1500 ~

1000 ~

500

obs
Fit

100 150

baiA

baiB

1.0

1.0467

0. 0428

0.8 -

0.6

0.4 -

0.2 -

0.0

0.0

0.2

0.4

0.6 0.8

1.

obs

1600 ~
1400
1200
1000 ~
800 -
600 -
400 ~

2001 4!

Fit vs obs: a=0. 81,

b=92. 73,

r=0.8

1.0

1000
Fit

1500

0.8 -

0.6 1

0.4 -

0.2 -

0.0 T

0.0 0.2

0.4 0.6

0.8

1.

0



hour

:00 -

:30 -

:05

125

115

:05

:50

140

100

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%\
T
Y
2

.
o
%,

%

%



P6AE

BrE) | GEBAK @) | ERE(EAH/K (XS R

08:05 333 160.0 5| THR08:05 KENFERF (KRF1RELEE
08:30 333 160.0 & FHAe08:30 KREIEF (KRAEREE)
09:25 333 160.0 5| TiH@09:25 RHEFEF (REAEREE)
10:25 333 160.0 | FiHfe10:25 REERF (KREERSR)
11:15 333 160.0 5| TiHfe11:15 RHEF (KREAERSH)
12:05 333 160.0 5| TiHe12:05 REFESF (KREAERSE)
12:50 333 160.0 | FiHfe12:50 REEEF (KREERSR)
13:40 333 160.0 5| TiHEe13:40 RHEF (KEAERSE)
14:30 333 160.0 5| THHe14:30 RHFEF (REAERSE)
15:25 333 160.0 | FiHfe15:25 REEF (KREEZSR)
24t 3330.0 (100%) 1600. 0 EWHKEC: 2080.0, PH: 5.5

#HEKRECE (2140.0 vs 3183.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P6AE_E, Day=48 (2025-05-23)

V1, VO PRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
0.8 1 L 2000

0.6 1 1374
1100
0.4 744 - 1000

FRV (ml d-1)

0.2 - 33
00 00O

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=5.5

0.2~

0.0
7
300 -+ - 2000

e—eo—eo—9o—o |,

ByWoFyv 1@D48 01:55: ET=1370 Fg=1600. 0 Ro=220.0

200
- 1000
100 -

cumET (ml/plant)

T
a1
o
o

I
?

o

1.0

o
—_
N
w
N
(S}
=2}
~
o0}
©

10 11 12 13 14 15 16 17 18 19 20 21 22 23

B B B B B B B B ] B B B B B

o
oo
=
=
f==1
T0h,
E=-1
Tt
™
T,
f==1
T,
f==1
T0h,
E=-1
Tt
™
T,
f==1
T,

0.6 1

0.4+

0.2~

800 4
600
400 -
200 -
0 \ A A WarRing:

25 4

, 'PPFD_obs’] is missing

20 -

15 A
7 "To_obs’'] is missing

80 -

60

—— RH Warning: col ['RH obs’, 'RHo obs’] is missing

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0




hour

100
7:05 - I
80
7:15
- 60
8:20
- 40
10:45
12:50

I20
I -0
7B
3

% €§>¢¢ RO, TN K SR
¥ %»’& S F \gﬁ\ & )\@%&, A ﬁ?;ﬁ\ %&_— @@

S )
-:i%'\ B\ g



P6AE

BYE) | GEBERTIC (B)) | EBE (EAH/#K) | XS R

07:15 333 160.0 (& =| 1BRiBe07:15 Bzh (REEREE)
08:20 333 160.0 |Z=| 1Ri%@08:20 Bxh (FkAIEREE)
10:45 333 160. 0 FE| 1Ri%@10:45 Bz (REAERESE)
12:50 333 160. 0 FH| 1Ri&@12:50 B (RS
21t 1332.0 (4%) 640.0 32053 KEC: 2080.0, PH: 5.5

HREFIRRA (0.93) , FEE

MEREHERE STHAE RS (316.0 : 163.0), AIREKREERE
BRIASERRIERE163. 0 ml.

HEIRECE (2143.0 vs 3133.0) hs



FRV (ml plant-1)

2800 7

2200

A L O e S ——— —— e3¢ 3¢ 3¢ e3¢ e g g g
2000 ~
1900 A Warning: 'col ['ECC’ ]l is missing
6. 00 4
5.75 A
77 3 S R S S el
5. 25 -

5. 00
400 7

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P6AE_E, Day=47 (2025-05-22)

150 -

100 A

50 -

408
300 -
200 -

100 ~

VI, V2RV, ET = VI, VO, FVI, FVO, FRV, adjFRV, ET

2171

1100 141

133 Warning: lcol [FVI',| "FVO’'] missing 33

— M_E

. v
FRV

1.0

0.8 A

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

300
200

100 A

408 1

TargetEC=2600. 0,  TargetSetEC=2080. 0 —>— ECB*10%

TargetPH=6. 5, TargetSetPH=5.5 —>—  PHB*10%

X
X
X

y

Warning: lcol ['PHC' ]| is missing

1700 H570 - 2000 =

747 1000

r
497.5

maxM - 450

- 40.0

-37.5

]
Bylnit @D48 01:55: ET=1412 Fg=1600.0 Ro=180.0

T 7 T

L 4 L 4
P a

7
- 2000
- 1500
- 1000

- 500

|l

1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300
200

100 A

408 1
300 -
200 -
100 -

1.0 A
0.8 -
0.6
0.4 -

0.2~

55|55 (%z=| B | KB | kBB | B | B | FH | B | B [ BA [ BA [ BA [ B | BA | BA | B | BH | FH | BH | BH [ BH [ BA

- 2000

ByEt @47 17:22: ET=997 Fg=1120.0 Ro=nan

- 1500

- 1000

- 500

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

55|35 (375|275 |25 | KB | Z2=x|Z= %= | 0 | B [ BA [ BA [ BA [ B | BA | BA | BH | BH | FH | BH | BH [ BH [ BA

- 2000

]
ByWoFv :@D48 01:55: ET=747 Fg=640.0 Ro=24.0

- 1500

- 1000

- 500

0.0

400 ~

200 -

20 A

15

—_—
o | _obs
—@— PPFD obs

LA

_ T
o T obs
o To_obs

- 3000 —

d-1

FRV (

- 42.5 W

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



38 -
T T T T
400 500 600 700 800 900
m=590,m FV0=0
46.04 —®— ME o—W
45.5 -
45.0
44.5
T T T
590 595 600

m=435, FV0=0
—o— ME
40 -
39 -
38 -
37 -
T T T
435 440 445
m=650,m FV0=0
—o— ME
46.0 -
45.5 -
45.0 -
T T T
650 655 660

46.

46.

46.

46.

45.

45.

45.

m=465, FV0=0

44 -

43 A

42

41

—o—

M_E

T
465

4%0
m=700,n FV0=0

T
475

75 4

50 -

25 A

00 ~

75 -

50 -

25 -

—0—

M_E

T
700

T
705

710

m=520, FV0=0
—e— ME
45.5 -
45.0 -
44.5
44.0 -
T T T
520 525 530
m=835,m FV0=0
46+ —8— ME
45 -
44 -
43 -
T T T
835 840 845




hour

145

:35

120

:05

:50

:35

120

:10

:10

100

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%\
T
Y
2

@f%$
- %
%

%

%



P6AE

BriE) | GEBAK(F) | ERE (EH/R) (KSR R

07:20 320 160.0 (Z=| {Ri%@07:20 Bz (FEAFERESE)
08:20 320 160.0 |Z=| 1BRi&e08:20 Bzh (REERESE)
09:45 320 160.0 [Z=| {Ri%@09:45 Bz (RAEESE)
10:35 320 160.0 |Z=| 1BRiZ@10:35 Bzh (REERESE)
11:20 320 160.0 [Z=| 1Ri%e11:20 Bzh (RAHERESE)
12:05 320 160.0 (Z=| 1BRig@12:05 Bzh (KREERESE)
12:50 320 160.0 | =| 1Ri%e12:50 Bzh (RAERE)
13:35 320 160.0 =l {Rige13:35 B3 (REAERSE)
14:20 320 160.0 =l RRiB014:20 B (RFAEESE)
15:10 320 160. 0 E BRi&e15:10 Bz CGRAEREE)
16:10 320 160. 0 El BRi&e16:10 Bz GRAEREEE)
23t+]3520.0 (113%) 1760. 0 3 3FKEC: 2080.0, PH: 5.5

K THRERRA (0.93) , 1EHRE o
TERRHLER 8 STEAEARTF (296.0 : 166.0), AIAEKREERE
ZRIASLBRIERE166. 0 ml.
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P6AE

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:15 308 160.0 |Z=| 1BRige07:15 Bzh (REERESE)
07:50 308 160.0 (Z=| {Ri%@07:50 Bz (FEAHEHSE)
09:05 308 160.0 = {RRiB009:05 B (RFAEEE)
09:50 308 160. 0 E 1BRi&@09:50 Bzl (RAERE)
10:30 308 160. 0 El 1BRi%010:30 Bz (GRAERE)
11:05 308 160.0 =l {Rige11:05 B3 (RAERSE)
11:40 308 160.0 Sl {Rige11:40 B3 (RAERSE)
12:20 308 160. 0 E| {Rig012:20 B3h (RE{ERSE)
13:00 308 160. 0 E|  {Ri&@13:00 B3h (RE{EREE)
13:35 308 160.0 S| {Rig@13:35 B (RAERSE)
14:25 308 160.0 |Z=| 1BRige14:25 Bzh (REERESE)
15:45 308 160.0 (Z=| 1Ri%@15:45 Bz (REERSE)
24t 3696.0 (12%) 1920.0 3ZHKEC: 2080.0, PH: 5.5

HREFIRRA (0.93) , FEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

H#EIRECE (2205. 0 vs 3283.0) s



P6AE_E, Day=45 (2025-05-20)
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P6AE

BfiE) | GEBEETIC (FD) | EM=E (BAH/K) | XK R

07:30 308 160.0 FA| 1BRi&@07:30 B3h (KAEREEE)
07:55 308 160.0 FH| 1Bi&@07:55 Bzh (RAEREE)
08:55 308 160.0 (Z=| 1{Ri%@08:55 H#EI (FEAHERHSE)
09:45 308 160.0 | =| 1Ri%@09:45 Bz (kAEREE)
10:20 308 160.0 & =| 1Ri%@10:20 Bz (kAEREEE)
10:55 308 160.0 (& =| 1BiB@10:55 Bzh (REEREE)
11:25 308 160.0 =l {Rige11:25 B3 (RAERSE)
12:00 308 160.0 El BRige12:00 Bz (GRAEREE)
12:35 308 160.0 =l {Rige12:35 B3 (REAEDSE)
13:10 308 160.0 F BRige13:10 Bz CGRAEREE)
13:45 308 160.0 5| 1Ri%e13:45 B (REERE)
14:35 308 160.0 = RRiB014:35 Bz (REAEESE)
15:20 308 160.0 = Rig015:20 Bah (REAEESE)
16:05 308 160.0 =l RRiB016:05 Bz (REAKEE)
2it] 4312.0 (14%) 2240.0 3EHKEC: 2080.0, PH: 5.5

EREFIRRA (0.94) , FEE

MEREHERE STHAEARS (291.0 : 163.0), AIREKREERE
BRIASERRIERE163. 0 ml.

HERECE (2235. 0 vs 3393.0) s



P6AE_E, Day=44 (2025-05-19)
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